
Q.1 Choose the correct option 4 

i) If it is 12 noon in India , what is the time in Brazil? 

a) 3.30pm       b) 3.30am      c) 2.30pm     d) 4.30am 
 

ii) _______ is only country in the world where both tigers and lions are found. 

a) India       b) Brazil      c) China     d) South Africa 
 

iii) In Brazil, cyclones are not formed on the coastal regions near the equator as the convergence 

zone of the trade wind is _______. 

a) stable    b) unstable     c) strong       d) weak 

 

iv) Brazil is famous for ____ dance. 

a) Ballet      b) Kathak       c) Hip hop      d) Samba 
 

Q.2 Match the following. 4 

  Column ‘A’  Column ‘B’ 

i) East – West Distance of India a) 3200 kms 

ii) Eastern most longitude of India b) 3000 kms 

iii) Eastern most longitude of Brazil c) 3447’ W 

iv) Western most longitude of India d) 3700 kms 

  e) 687’E 

  f) 9725’E 
 

 

Q.3 Answer in one sentence.( (Any 4) 4 

i) Which line is the reference for Brazilian timing in different time zones?  

ii) Name the type of vegetation of Brazil?  

iii) Why does it rain more in the coastal areas of India?  

iv) Where is the Barren island located in India?  

v) Who ruled Brazil and for how many years?  

Q.4 A] Look at the map and answer the following question. (Any 4) 4 
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i) Which food crops are mainly grown in Brazil?  

ii) Where are the rubber plantations concentrated?  

iii) Ocean currents are seen in which part of brazil and where?  

iv) In which part of Brazil ,coffee is grown?  

v) Name the minerals found in eastern part of brazil?  

 B] On the outline map of Brazil, shade and mark the following. (Any 4) 4 

i) Sao Paulo – Major state of Brazil growing coffee.  

ii) Region near Amazon river – Region where rubber is cultivated.  

iii) Coastal area Northeast of Brazil – Fisheries of Brazil   

iv) Drought quadrilateral  

v) Marajo Island  

Q.5 Give reasons (Any 2) 6 

i) Settlements are less found in Drought quadrilateral region of Brazil.  

ii) Population density is high in the Ganga plains.  

iii) Like India, there is need of conservation of forests in Brazil too.  

iv) Deltas are found along the Eastern Coast of India.  

Q.6 A]Classify the states according to level of urbanisation in their respective countries 6 

i) Tamil Nadu, Para, Rajasthan, Sao Paulo, Goa, Piaui, Bihar, Assam, Jammu Kashmir, Rio de 

Janeiro, Maharashtra, Espirito Santo, Goias, Kerala, Uttarakhand. 
 

 Level of Countries 

urbanisation 

 

India 

 

Brazil 

High level of urbanisation   

Low level of urbanisation   
 

6 

 OR 6 

 

 

 

i) What was the percentage of urbanization in 1961?  

ii) In which decade was urbanization the highest?  

iii) In which decade was the growth of urbanization was lowest?  

iv) What inference can you draw regarding India’s in urbanization after reading the graph?  

v) What was the percentage of urbanization in 2011?  

vi) What is the percentage difference of urbanization in 1991-2001?  

Q.7 Answer the following in short. (Any 2) 8 

i) What are the factors determining the distribution of population?  

ii) What are the points to be considered while writing a report?  

iii) Explain the characteristics of the North Indian Plains.  

iv) Differentiate between – India and Brazil  
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